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Q. What should come in the place of question mark(? )

प्रश्न चिन्ह के स्थान पर क्या आएगा(? )

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

RD NY JT FO BJ ?

(1) MP

(2) NQ

(3) OF

(4) WE

(5) XE
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F @ 5 3 R $ J C E 7 H % I 8 4 B 8 A X 1 U T 6 * 9 d Z N M © V

Q. Which of the following is the 9th to the left of the 21th from the left end of the 

above arrangement?

बाये छोर से 21वे शब्द के बाये 9वा शब्द कौन सा होगा ? 

(1) J      

(2) E   

(3) A                     

(4) P 

(5) None of these
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Which of the following will come in place of the question mark (?) in the 

following sequence ?

चनम्नचिचित अनुक्रम में प्रश्न चिह्न (?) के स्थान पर चनम्नचिचित में से कौन सा होगा?

6 C 7 ,8 F 10 ,11 J 14 ,15 O 19 ,?

(1) 25 U 20                                               

(2) 20 U 25 

(3) 20 U 24                                              

(4) 19 U 25        

(5) None of these 
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How many such digits are there in the given series each of which when 

subtracted from the following digit, gives 1 as resultant?

दी गई शं्रििा में ऐसे चकतने अंक हैं, चिनमें से प्रत्येक को चनम्नचिचित अंकों में से घटाने 

पर 1 पररणाम प्राप्त होता है?

A .Three

B . Four

C . None

D . More than four

E . None of these
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Which of the following numbers will be obtained when the 18th number from the 

right end is added to the 19th number from the left end of the series?

चनम्नचिचित में से कौन सी संख्या प्राप्त होगी िब दायें छोर से 18 वीं संख्या को श्ररंििा के बाए ंछोर 

से 19 वीं संख्या में िोडा िाता है?

1. 17

2. 15

3. 16

4. 18

5. None of these
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Statements: 

T < P < A ≤ N , M ≤ A < S 

Conclusions:

I. S > P 

II. T < A 

III. N > T

IV. S > N 
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Statements: 

P ≥ R < S ≥ M > E ≥ B 

Conclusions:

I. E < S 

II. B ≤ S

III. M ≥ S 

IV. R = M 
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Statements: 

G ≥ M > P, Q ≤ R > P 

Conclusions: 

I. G > R 

II. Q > M 

III. P < G 

IV. M < R 
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Statements: 

N ≥ Q > R = B ≥ S, R > F ≥ D 

Conclusions:

I. B > D

II. F ≤ S

III. N > D 

IV. Q > F 
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In a Certain code MONKEY is written as CEDAEJ ,than find the code 

for FLOWER?

एक चनचित कोड में MONKEY का कोड CEDAEJ चििा गया है तो FLOWER 

का कोड क्या होगा ?

(1) BFHEFE

(2) FEHEFB

(3) BHEFEF

(4) FBEFEH

(5) None of these
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In a Certain code JUNGLE is written as 18301716,than find the 

code for FOREST?

एक चनचित कोड में JUNGLE का कोड 18301716 चििा गया है तो

FOREST का कोड क्या होगा ?

(1) 5162141012

(2) 6151141112

(3) 6152141102

(4) 5161141012

(5) None of these
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Statements: 

Only Banana is Apple. 

Some Banana are Papaya. 

Conclusions: 

I. Some Apple being Papaya is 

a possibility. 

II. All Banana can be Apple.

कथन: 

केवल केला सेब ह।ै 

कुछ केले पपीते हैं। 

ननष्कर्ष: 

कुछ सेब के पपीता होने की 

संभावना ह।ै

सभी केले सेब हो सकते हैं।
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Statements: 

Only Banana is Apple. 

Some Banana are Papaya. 

Conclusions: 

I. Some Apple being Papaya is 

a possibility. 

II. All Banana can be Apple.
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Statements: 

Some Bird are not Eagle. 

Some Eagle are Parrot.

Conclusions: 

I. Some Parrot are Bird. 

II. No Parrot is Bird.

कथन: 

कुछ बर्ष ईगल नहीं हैं. 

कुछ ईगल तोते हैं। 

ननष्कर्ष: 

कुछ पैरेट बर्ष हैं. 

कोई पैरेट बर्ष नहीं ह.ै
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Statements: 

Some Bird are not Eagle. 

Some Eagle are Parrot.

Conclusions: 

I. Some Parrot are Bird. 

II. No Parrot is Bird.
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Statements: 

Only a few City are Town. 

No Town is Village. 

All Village are Block. 

Conclusions: 

I. All City can be Village. 

II. Some Block are not 

Town.

कथन: 

केवल कुछ नसटी टाउन हैं। 

कोई टाउन नवलेज नहीं ह।ै 

सभी गांव ब्लॉक हैं। 

ननष्कर्ष: 

सभी नसटी नवलेज हो सकते हैं। 

कुछ ब्लॉक टाउन नहीं हैं।
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Statements: 

Only a few City are Town. 

No Town is Village. 

All Village are Block. 

Conclusions: 

I. All City can be Village. 

II. Some Block are not 

Town.
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Statements: 

Only a few Photo are Video. 

Only a few Frame are Video. 

All Frame are Camera. 

Conclusions: 

I. All Photo being Frame is a 

possibility. 

II. Some Photo are not 

Camera. 

कथन: 

केवल कुछ फोटो वीनर्यो हैं। 

केवल कुछ फे्रम वीनर्यो हैं। 

सभी फे्रम कैमरा हैं। 

ननष्कर्ष: 

सभी फोटो के फे्रम होने की संभावना ह।ै 

कुछ फोटो कैमरा नहीं हैं.
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Statements: 

Only a few Photo are Video. 

Only a few Frame are Video. 

All Frame are Camera. 

Conclusions: 

I. All Photo being Frame is a 

possibility. 

II. Some Photo are not 

Camera. 
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G is the mother of F, who is the spouse of D. M is the daughter of D, who is the only 

brother of C. E is the son of G, who is married to H. A is the niece of C, who has no 

sister and is unmarried. T is the father of D and has no daughter. V is the sister-in-law 

of F. G has only two children. M is the granddaughter of O.

G, F की मााँ ह,ै जो D की पत्नी ह।ै M, D की पतु्री ह,ै जो C का इकलौता भाई ह।ै E, G का पतु्र ह,ै नजसका 

नववाह H से हुआ ह।ै A, C की भतीजी ह,ै जो की कोई बहन नहीं ह ैऔर अनववानहत ह।ै T, D का नपता ह ै

और उसकी कोई पतु्री नहीं ह।ै V, F की भाभी ह।ै G के केवल दो बच्चे हैं। M, O की नवासी

ह।ै

How is V related to M? / V, M से नकस प्रकार संबंनित ह?ै 

Paternal aunt Maternal aunt

Sister Either A or B None of these
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G is the mother of F, who is the spouse of D. M is the daughter of D, who is the only 

brother of C. E is the son of G, who is married to H. A is the niece of C, who has no 

sister and is unmarried. T is the father of D and has no daughter. V is the sister-in-

law of F. G has only two children. M is the granddaughter of O.
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F, E, D, C, B and A are arranged in the top to bottom. Each box contains different colour Green,

Pink, Violet, White, Black and Blue, but not necessary in the same order. Only three boxes kept 

between D and the box which contains Pink. Both the box which contains Violet and the box 

which contains White kept below to C. Only three box kept between E and the box which 

contains Black. As many boxes between F and E as between E and D. A kept immediately 

above to the box which contains White. Only one box kept between the box which contains 

Violet and the box which contains Blue. The box F contains Blue color .

F, E, D, C, B और A को ऊपर से नीचे तक व्यवनथथत नकया गया ह।ै प्रत्येक बॉक्स में अलग-अलग रंग होता ह,ै हरा 

गलुाबी, बैंगनी, सफेद, काला और नीला, लेनकन आवश्यक नहीं इसी क्रम में हो। D और गलुाबी वाले नर्ब्बे के मध्य 

केवल तीन नर्ब्बे रखे गए हैं। दोनों बॉक्स नजसमें बैंगनी ह ैऔर नजस बॉक्स में सफेद ह ैवह C के नीचे रखा गया ह।ै E 

और उस बॉक्स के बीच केवल तीन बॉक्स रख ेगए हैं नजसमें काला ह।ै F और E के बीच उतने ही नर्ब्बे हैं नजतने E और 

D के बीच हैं। A उस नर्ब्बे के ठीक ऊपर रखा ह ैनजसमें सफेद रंग ह।ै बैंगनी वाले नर्ब्बे और नीले रंग के नर्ब्बे के बीच 

केवल एक नर्ब्बा रखा गया ह।ै नर्ब्बा F में नीला रंग ह।ै
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F, E, D, C, B and A are arranged in the top to 

bottom. Each box contains different colour

Green,Pink, Violet, White, Black and Blue, but 

not necessary in the same order. Only three 

boxes kept between D and the box which 

contains Pink. Both the box which contains 

Violet and the box which contains White kept 

below to C. Only three box kept between E and 

the box which contains Black. As many boxes 

between F and E as between E and D. A kept 

immediately above to the box which contains 

White. Only one box kept between the box which 

contains Violet and the box which contains Blue. 

The box F contains Blue color.
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Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.

एक रैनखक पंनि में उत्तर की ओर उन्मखु व्यनियों की संख्या अनननित ह।ै Y, G के बाए ंसे पांचवें थथान 

पर बैठा ह।ै Y और P के बीच दो व्यनि बैठे हैं। P नकसी एक अंनतम छोर से दसूरे थथान पर बैठा ह।ै Z और 

G के बीच पांच व्यनि बैठे हैं। Z, Y का ननकटतम पडोसी नहीं ह।ै नजतने व्यनि G और Z के बीच बैठते 

हैं, उतने ही व्यनि Z और Q के बीच बैठते हैं। नजतने व्यनि P और Y के बीच बैठते हैं उतने ही Y और X 

के बीच बैठते हैं। Q, छोर से तीसरे थथान पर बैठता ह।ै
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Uncertain number of persons are sitting in a linear row facing north. Y sits fifth to 

the left of G. Two persons sits between Y and P. P sits second position from one of 

the extreme end. Five persons sits between Z and G. Z is not an immediate neighbor 

of Y. As many as persons sits between G and Z as between Z and Q. As many as 

persons sits between P and Y as between Y and X. Q sits third position from one of 

the extreme end.
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A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit at 

four corners of the square while four sit in the middle of each of the four sides. Those who sit at 

the four corners faces outside while those who sit in the middle of the sides face the center of the 

table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners. 

Only one person sits between C and F. Only one person sits between D and F. A is an immediate 

neighbor of F but not an immediate neighbor of C. The number of the person sitting between B 

and F is same as the number of the person sitting between D and C.

A, B, C, D, E, F, G और H एक वगाषकार मेज के चारों ओर इस प्रकार बैठे हैं नक उनमें से चार वगष के चार कोनों पर 

बैठे हैं जबनक चार चार भजुाओ ंमें से प्रत्येक के मध्य में बैठे हैं। जो लोग चारों कोनों पर बैठे हैं उनका मखु बाहर की ओर 

ह ैजबनक जो भजुाओ ंके बीच में बैठे हैं उनका मखु मेज के कें द्र की ओर ह।ै D, G के बायें से तीसरे थथान पर बैठा ह।ै E, 

C के बायें से तीसरे थथान पर बैठा ह।ै C नकसी भी कोने में नहीं बैठा ह।ै C और F के बीच केवल एक व्यनि बैठा ह।ै D 

और F के बीच केवल एक व्यनि बैठता ह।ै A, F का ननकटतम पडोसी ह,ै लेनकन C का ननकटतम पडोसी नहीं ह।ैB b 
B और F के बीच बैठे व्यनि की संख्या D और C के बीच बैठे व्यनि की संख्या के समान ह।ै
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A, B, C, D, E, F, G and H are sitting around a 

square table in such a way that four of them 

sit at four corners of the square while four sit 

in the middle of each of the four sides. Those 

who sit at the four corners faces outside while 

those who sit in the middle of the sides face 

the center of the table. D sits third to the left 

of G. E sits third to the left of C. C does not 

sits any of the corners. Only one person sits 

between C and F. Only one person sits 

between D and F. A is an immediate neighbor 

of F but not an immediate neighbor of C. The 

number of the person sitting between B and F 

is same as the number of the person sitting 

between D and C.
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